

$((a-b)^r)^r ((a+b)^r)^r = ((a-b)(a+b))^r = ((a^2-b^2)^r)^r = (a^2 - 2ab^r + b^2)^r$ $a^2 = \sqrt{4-r} \quad b^2 = \sqrt{4+r} \quad a^r b^r = (\sqrt{\sqrt{4-r}})^r \times (\sqrt{\sqrt{4+r}})^r = \sqrt{\sqrt{4-r}} \times \sqrt{\sqrt{4+r}} =$ $\sqrt{(\sqrt{4-r})(\sqrt{4+r})} = \sqrt{4-r^2} = \sqrt{4}$ $\Rightarrow (\sqrt{4-r} - 2\sqrt{4-r} + \sqrt{4+r})^r = (r\sqrt{4-r} - r\sqrt{4+r})^r = r(\sqrt{4-r} - \sqrt{4+r})^r = r(4+r - r\sqrt{\frac{4+r}{4-r}})$ $r(4 - r\sqrt{r}), 14(r - \sqrt{r}) = 2(r - \sqrt{r}) \Rightarrow \boxed{r=14}$	
$a = \sqrt[r]{r - \sqrt{r}} \quad a^r = r - \sqrt{r} \quad (a + \frac{1}{a} + \sqrt{r})^r (a + \frac{1}{a} - \sqrt{r})^r =$ $\frac{1}{a^r} = \frac{1}{r - \sqrt{r}} \times \frac{r + \sqrt{r}}{r + \sqrt{r}} = \frac{r + \sqrt{r}}{r - r} = r + \sqrt{r} \quad ((a + \frac{1}{a})^r - (\sqrt{r})^r)^r = (a^r + \frac{1}{a^r} + \cancel{r})^r$ $(a^r + \frac{1}{a^r})^r = (r - \sqrt{r} + r + \sqrt{r})^r = 14^r = r^t \Rightarrow \boxed{t=r}$	Y
$A = \sqrt[r]{r^r} \times \sqrt[r]{r^r} \times r^{\frac{r}{r}} = \sqrt[r]{r^r \times r^r} \times r^{\frac{r}{r}} = \sqrt[r]{r^{\frac{1}{r} \times \frac{r}{r}} \times r^{\frac{r}{r}}} \times r^{\frac{r}{r}} = r$ $r(A)^{-\frac{1}{r}} = \Lambda^{-\frac{1}{r}} = r^{\frac{r}{r} \times -\frac{1}{r}} = \boxed{\frac{1}{r}}$	A
$\sqrt[r]{a} = r\sqrt[r]{a^{\frac{1}{r}}} \rightarrow a = r\sqrt[r]{a^{\frac{1}{r}}} \quad a^{\frac{1}{r}} = r^{-\frac{1}{r}} \quad a = r^{-\frac{1}{r}} \times r^{\frac{r}{r}} = \frac{1}{\sqrt[r]{r}} \times \frac{1}{r\sqrt[r]{r}}$ $\frac{1}{a} = r = r\sqrt{r} - r = r(\sqrt{r}-1) \quad \frac{r(\sqrt{r}-1)(\sqrt{r}-1)}{(\sqrt{r}+1)(\sqrt{r}-1)} = \frac{r(\sqrt{r}-1)^2}{r} = \frac{1}{\sqrt{r}} \times \frac{1}{r\sqrt{r}}$ $\frac{r}{r} \times \frac{r}{r} \times \frac{r}{r} \times \frac{r}{r} = \boxed{4 - 2\sqrt{r}}$	9
$\sqrt{n+a} - \sqrt{n-r} = r \quad A-B=r \quad A^r-B^r = x+a-n+r = a+r$ $\frac{(A-B)(A+B)}{r} = a+r \quad A+B = \frac{a+r}{r}$ $\sqrt{n+a} + \sqrt{n-r} - r = A+B-r = \frac{a+r}{r} - \frac{r}{r} = \boxed{\frac{a}{r}}$	1.